Model Prediction (G3-17)

G3-17: ['PA', 'Rm'] G3-17:['CS', 'CD', 'CB'] G3-17:['Ldem’, 'Ndem', 'Rdem’, 'FLdem’, 'FRdem']
100 A 100 Ldem
Ndem
80 - 80 4 Rdem
FLdem
60 - 60 FRdem
40 - 40 1
20 A 20 A
0 0 -
0 50 100 150 200 0 50 100 150 200 0 50 100 150 200
G3-17: ['Rc'] G3-17: ['LfA", 'LfAH', 'tgtLAlavg'l] G3-17: ['FIN', 'FrN', '"FrNH']
2.00 - : — h 100 -
1.75 1 47 E —— LfAH
—_— 80 -
150 - : tgtLAlavg
1
1.25 - : 60 -
1.00 A i
0.75 - ! 401
0.50 A
20 A
0.25 ~
0.00 - 0 A
0 50 100 150 200 0 50 100 150 200 0 50 100 150 200
G3-17: ['LfN', 'NdN', "TsN'] G3-17: ['LfDW!', 'FrDW"', 'FrDWH']G3-17: ['FrDW', 'FrDWH', 'adjFrDW', 'adjFrDWH']
35 A I T
! A —— FrDW
301 : 400 1 400 1 —— FrDWH
: —— adjFrDW
25 | 300 - 300 4 adjFrDWH
20 A : — LfN :
1 —— NdN 1
15 A : — TN 200 A 200 A :
I I
10 - :
I 100 A 100 A I
s :
| |
01 L 0 01 !
0 50 100 150 200 0 50 100 150 200 0 50 100 150 200
G3-17: ['LfFDW', 'NdDW', 'RtDW'] G3-17: ['PAT', 'RmT', 'CST'] G3-17: ['CST', 'CDT', 'TtDW', 'TtDWH']
T T
—— NdDW 3500 1 | 1
—— RtDW : 6000 :
3000 i 1
1 5000 A 1
2500 : :
1 4000 A 1
2000 - : :
1500 - | 30007 |
1 1
1000 4 : ———= 2000 A :
500 - i —— RmT 1000 1 |
1 L |
0- | CST 0- :

0 50 100 150 200 0 50 100 150 200 0 50 100 150 200



60

50

40

30

20

10

G3-17: ['LfN', 'NdN', "TsN', 'tgtLfN', 'prunLfN']

-

N )
_/f ) \‘\ \fj

L ~h




30

25

20

15

10

G3-17: ['LfN', 'LfNT', "TsN', "TSNT']

|
LfN

I/, =]
-\
AN
i N
i N
0 N



G3-17: ['LfA", 'peakTgtLAl']
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G3-17 (plot by DAT)
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Days After Budding

G3-17 TsN1 (plot by DAT)
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G3-17 TsN2 (plot by DAT)
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Days After Budding

G3-17 TsN3 (plot by DAT)
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G3-17 TsN4 (plot by DAT)
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Days After Budding

G3-17 TsN5 (plot by DAT)
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G3-17 TsN6 (plot by DAT)
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G3-17 (plot by adjDAT)
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Days After Budding

G3-17 TsN1 (plot by adjDAT)
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G3-17 TsN2 (plot by adjDAT)
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Days After Budding

G3-17 TsN3 (plot by adjDAT)
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G3-17 TsN4 (plot by adjDAT)
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Days After Budding

G3-17 TsN5 (plot by adjDAT)
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G3-17 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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